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1. The word ‘claustrophobia’ means
(A) fear of darkness
(B) fear of crowds
(C) fear of confined spaces
(D) fear of water

2. Fill in the blank with the suitable option:

She from the bus and walked to
the back-gate.

(A) boarded
(B) stepped
(C) moved
(D) alighted

3. To feel ‘under the weather’ means

(A) feel depressed
(B) feel uncomfortable
(C) feel unwell

(D) feel uncertain

4. The word vicissitude means
(A) change
(B) stagnation
(C) uniformity
(D) stability

5. The synonym of supercilious is
(A) officious

(B) éuperﬁcial
(C) delicious
(D) haughty

6. The word ‘officious’ means
(A) self-important
(B) official
(C) serious
(D) enterprising
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7. Fillinthe blank with the suitable preposition:
He presided
(A) over
(B) at
(C) 1n
(D) for

__the meeting.

8. Selectthe correct answerto fill in the blank.
The ship, with its crew, lost.
(A) were
(B) was
(C) were getting
(D) was being

9. A place where bees are kept —
(A) Aviary
(B) Abattoir
(C) Granary
(D) Apiary

10. Select the correct spelling:
(A) Accommodition
(B) Accommodation
(C) Accomodation
(D) Acommodation

11. Add a suitable prefix to form the opposite

of the word ‘capable’.

(A) Uncapable
(B) Noncapable
(C) Ill-capable
(D) Incapable

12. The expression ‘holier than thou’ means
(A) pure
(B) religious
(C) moralistic
(D) sanctimonious

13. The idiomatic expression ‘make both ends

meet’ means

(A) get by

(B) getover
(C) getdone
(D) get well



14. The idiomatic expression, once in a blue
IMoon, means

(A) rarely
(B) frequently
(C) regularly
(D) never

15. The antonym of the word weird 1s
(A) Normal
(B) Casual .
(C) Tired
(D) Worried

16. Convert the given sentence into an
interrogative sentence:

I will meet you tomorrow.

(A) Where will you meet me?
(B) How will you meet me?
(C) Will you meet me?

(D) When will you meet me?

17. Fill in with a suitable preposition:
He is taller than you
(A) with
(B) of
(C) n
(D) by

two i1nches.

18. The antonym of the word superficial is
(A) Deep
(B) Artificial
(C) Apparent
(D) True

19. The past tense of rewind is
(A) rewinded
(B) rewounded
(C) rewound

(D) None of the above
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20. The serenity of the place overwhelmed me.

Replace the underlined word with a suitable
word.

(A) Noiselessness
(B) Calmness
(C) Isolation
(D) Seclusion

21. Choose the right option:
While 1 in the library, someone
threw a ball through the window.
(A) was sitting
(B) was seated
(C) had been sitting
(D) am sitting

22. Which is the correct sentence?

(A) Anone-eyed personwas seenroaming
about the streets.

(B) A one-eyed person was seen roaming
about the streets.

(C) Theoneeyed personwasseenroaming
about the streets.

(D) One-eyed person was seen roaming
about the streets.

23. ‘La Gioconda’ (Mona Lisa) 1s
unique work of art.
Fill in the blank with the suitable article.
(A) the
(B) an
(C) a
(D) this

24. Fill in the blank with the right option:

He was offended
(A) at

(B) for

(C) with

(D) towards

me unjustly.

25. Choose the right word for love of oneself.
(A) Hedonism
(B) Masochism
(C) Narcissism
(D) Sadism
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26. The following state 1s the highest producer
of tin in India :

(A) Rajasthan
(B) Odisha

(C) Jharkhand
(D) Chhattisgarh

27. Sandhyakar Nandi was the court poet of the
(A) Mauryas
(B) Senas
(C) Hussain Shahis
(D) Palas

28. Which Sultan was not a slave before he
ascended the throne?

(A) Qutub-ud-din Aibak
(B) Iltutmish

(C) Alauddin Khilji

(D) Balban

29. The ChiefJustice of High Courtis appointed
by the

(A) Prime Minister

(B) President |

(C) Chief Justice of the Supreme Court
(D) Cabinet

30. Who coined the slogan ‘Swaraj is my birth
right’?

(A) Vinayak Damodar Savarkar

(B) Vasudev Balwant Phadke

(C) Bal Gangadhar Tilak

(D) Balkrishna Chapekar

)

26. R aeTeER T oRre T Tdies
TLAME 25 2
(A) FEEA
(B) efe
(C) TSNS
(D) ®fexIee

27. AHWIFT TH @ AGARE TR e ¢
(A) G e
(B) T+ G
(C) TEHIE ArEag
(D) e qrea

28. (I FeTolw PR SRR T SIS 90
fersw wt e

29, QIIHF A4 Ko Fge =
(A) HYFANRT T
(B) wgeifen ==
(C) AT @0 guiv [oRsfes gl
(D) FIREG-43 7=t

30. ‘TG SN S SHEPR — g Sfes 2
(A) [REES MItIVE ASRSIT
(B) IPHI TR FITS
(C) e 4 foer<s
(D) QETge DIt
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31. Ratioofthe rms speed and the most probable
speed for molecules in an ideal gas is

(A) V3:1
(B) 1:+3
(C) V3:v2
(D) V2 : 3

32. The Valley of Kashmiris located in between
the following ranges :

(A) Zaskar and Pir Panjal
(B) Zaskar and Karakoram
(C) Karakoram and Shiwalik
(D) Zaskar and Shiwalik

33. The velocity ratio of the hour hand and
minute hand of a clock 1s

(A) 1:12
(B) 12:1
(C) 24:1
(D) 1:24

34. Theleaderofthe Narmada Bachao Andolon
1S
(A) Anna Hajare
(B) Medha Patker
(C) Ramdev

(D) Binayak Sen

35. Which was the first incident of a British
official’s assassination after the revolt of 18577

(A) Assassination of British official W.C.
Rand by Chapekar Brothers

(B) Assassination of British police officer
John Saunders by Bhagat Singh and
Shivram Rajguru

(C) Assassinationof William Hutt Curzon
Wyllie by Madan Lal Dhingra

(D) Assassinationof British police officer
Jackson by Anant Laxman Kanhere
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31. S SPICTR S &« rms (A5 €I most
probable (ITHT TS T
(A) V3:1
(B) 1:43
(C) V3:\2
(D) V2 :43

32, TR ot fAafERe srfereidtaiag Ty
IS 3

(A) TIER 8 ARG

(B) TrE € TN

(C) I @ frafer

(D) &= 8 PRI

33, 9fre 9% FH1 8 G FoR SRR
TS &
(A) 1:12
(B) 12:1
(C) 24: 1
(D) 1:24

34, T HH18 ARG (TG MEATEA
(A) S SR
(B) (34l AT
(C) AT
(D) == ¢

35, 1857-97 St AW (@ AGANSE TN
ST T TTOITSAM! FACTR ol T 2

(A) BIeeie Ereard f[Atw =ve wig. .

ANE-CF T

(B) e B2 @ feraam areuwa fafb= sfer
SR T ASH - T

(C) e el Téa TRfer X6 F1E
TXH-( T

(D) S¥ T INTE TGS ffert T
S O
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36. Vikramsila Bihara was founded by 36. Rriie Y9 & BoW @92
(A) Devapala (A) CFa=iiet
(B) Dharmapala (B) &l
(C) Rampala (C) A
(D) Sasanka (D) *i
37. Who said,“An eye for an eye will make the 37. (F ICET0=RA, “GBITIT Ve (514 e s qﬁﬁ’l
whole world blind”? % 3 2
(A) Martin Luther King (A) W GRIERE
(B) M. K. Gandhi (B) . &, o)
(C) Nelson Mandela (©) G
(D) Karl Marx (D) e w1l

38. Siachen glacier is located in the following 38. P g RefEie sforfis TES ¢

range :

(A) Karakoram E;; e
(B) Zaskar

(C) Pir Panjal (C) siterrer
(D) Shiwalik (D) Mifers

39. The Nobel Prize in Literature 2020 was

39. 2020 AR AfRCS) IR 2iiZe grez 27
awarded to i fofa G|
(A) Louise Gliick (A) Louise Gliick
(B) John Dranow

(B) John Dranow
(C) Peter Handke
(D) Peter Ackroyd

(C) Peter Handke
(D) Peter Ackroyd

40. Which Bengal poet composed the song
‘Ban eshechhe mora gange’ durin g the Partition of

Bengal? TN AMCE™ AT 6! I 2
(A) Rabindranath Tagore (A) FAZAIL SIFa
(B) Lalan Fakir (B) &l T
(C) Kazi Nazrul Islam (C) & Torre] AN

(D) Mukunda Das
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41. Sabooj-Sathiis a scheme for distribution of
Bicycles to students of Government/Government

Aided Schools/Madrasahs reading in
(A) Classes IX to X
(B) Classes X to XI
(C) Classes XI to XII
(D) Classes IX to XII

42. Which animal was part of the symbol of
Netaji’s INA Flag?
(A) Lion
(B) Elephant
(C) Tiger
(D) Rhino

43. Pure silicon at 0 K 1s
(A) semiconductor
(B) metal
(C) insulator
(D) superconductor

44. Which is the Direct Tax in India?
(A) VAT
(B) GST
(C) Wealth Tax
(D) Excise Duty

45. Name of the supercyclone ‘Yaas’, was given
by
(A) India
(B) Oman
(C) Sri Lanka
(D) Bangladesh

MTS/21

41, PoTH AR TG A FIINR/
AT/ RueEe @ @it «feae

QI-R MR AT Rozd a1 2 e
(A) 739 e (= v i
(B) W (e (e @ (i
(C) v f (U vt et
(D) W i (e wv= i

43. 0 K @ U w5 Hifered &
(A) SEAfTAR

(B) «IQ
(C) T8I

(D) SR

44, SIATS 2T A (I ?
(A) VAT
B) &b
(C) =M<
(D) ¥HFIJ

45. “Yaas' 2 G0 oI ARG, T T MR
(A) SITS
(B) €T
(C) Qe
(D) AT
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46. Badland topography is an important 46. I fufaie wwEw a3 g
characteristic of the following region : afigy
(A) Gulf of Kutch (A) F52 Tl
(B) Sundarban Delta
B) W33 I-319
(C) Konkan Coast (C) S
(D) Chambal Valley (C) e Bl
(D) 5Fe T
47. What was the ‘Eka Movement’? 47. ‘a3 SHE F o 2

(A) A Religious movement (A) 93 45T e
(B) A Peasant movement

(C) AS luti (B) Lﬂﬁww
ecret revolutionary movement
(D) None of the above (C) 9L (ool R2] Sewea
(D) ©oEF D3 7Y

48. Which among the following novels of

48. "B (T IIRACe ©rFren [
Sarat Chandra vividly reflected the revolutionary

_ SCHARTR B 2ifowers o7% 1 fHiafe 2
movement of India?

(A) Srikanta (A) Are

(B) Pather Dabi (B) ez widy

(C) Palli Samaj (ORI

(D) None of the above (D) TR TR 77

49. The power of a lens is +2-0D. The focal

49. 9 @I FTAS +2-0D | BT GPIIH
length of the lens and its nature are

A) 50 T @R &FfS 2

cm, concave
(B) 50 cm, convex (A) 50 cm, SI@H
(C) 100 cm, convex (B) 50 cm, O
(D) 100 cm, concave (C) 100 cm, T&5

(D) 100 cm, S[es

50. The spectrum of color in Compact Disc

(CD) is due to 50. I+ f% (CD)-c® @ & orat 31y op=
<FI9
(A) Refraction
(B) Reflection (A) &fEHge
(C) Diffraction (B) fSwers
(D) Polarization (C) W3ER (JT$+)

(D) A6

P ES HA
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51. JosephRobinette Biden Jr., the 46th President
of the USA belongs to the political party named

(A) Republican Party
(B) Labour Party

(C) Democratic Party
(D) Nationalist Party

52. Although the final match between England
and New Zealand was a tie, England won the 2019
ICC World CUP. The reason was

(A) England was the host nation.

(B) England won Super Overby boundaries.
(C) England won by toss.

(D) New Zealand lost for match-fixing.

53. Accordingto WHO, the official name of the
virus responsible for Covid-19 disease 1s

(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) Corona Virus

54. The boundary line of Sundarban was
demarcated by

(A) Hamilton Saheb

(B) Major William Tolly
(C) Scott

(D) Dampier and Hodges

55. Who founded the Asiatic Society 1n
Calcutta?
(A) Alexander Cuaningham

(B) John Stuart Mill
(C) William Jones
(D) David Hare

C-9
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51. Joseph Robinette Biden Jr. 3 SGIES

TEANGI 8L-oF AFeAfe | fofd @ weera aAfeifag
$qCRA

(A) RReRfeE =i
(B) R =i

(C) oIS Ao
(D) TS A

52. TOANF HAAA Fi7 41 ACGS 2019 AEH ICC
@ e e ¢ Hoftmie-aa g 2, Ot
3T el 2, T

(A) 3ETE S (= 12T |

(B) oA €O~ AT 2GS ([ FA |
(C) & 56T (e |

(D) Fefemre Wiv-fFER 03 AW |

53, WHO~99 WS Covid-19 (ISR &= Wil
SIRAADT WEFE TN 24
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19
(D) IR ©RAHA
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56. Who wrote Amuktamalyada?
(A) Rajaraja Chola
(B) Harshavardhana
(C) Deva Raya
(D) Krishnadeva Raya

S7. Who is the present Chief Election
Commissioner of India (as of June, 2021)?

(A) Anil Chauhan
(B) Sushil Chandra
(C) Sunil Chandra
(D) Anil Malhotra

58. Under which amendment of the Indian
Constitution the voting age reduced to 18 from 21?2

(A) 60th
(B) 62nd
(C) 61st
(D) 63rd

59. Article 18 of the Indian Constitution
guarantees the right to

(A) :Equality

(B) Freedom

(C) Freedom of Religion

(D) Right to Constitutional Remedies

60. Who has been named the captain of the

Indian Men’s Hockey Team for the Tokyo
Olympics?

(A) Manpreet Singh
(B) Harmanpreet Singh
(C) PR Sreejesh

(D) Birendra Lakra

56. SGAC-F TS (F?
(A) A (51
(B) T4
(C) R AW

(D) FRTT AW

57. June, 2021 PR ©rR0S 36T 725 fA<ioa
FPIT (&2
(A) wfR& e
(B) e
(C) 1 o™
(D) Sfwe eyl

58. SIOR FIUA @I AN 71T CSIBa
I 21 (AT I 18 T3 2

(A) 60@x
(B) 62N
(C) 61X
(D) 63 o

59. FRRUTT 18 T ooy 3o 3T —
(A) Ay
(B) T8
(C) &5 Fqo!
(D) *IFelfEe afeRuea witer

60. T (51RPS et eitea Tmy ©raTes ojwrn 2
wwﬁmwfim@mwﬁmﬁsm?
(A) T3 g
(B) =3 i
(©) 9. =17, St
(D) A e
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61. Family Income Ceiling for Kanyashree
Scheme is not applicable if

(A) the girl 1s physically challenged.
(B) the girl 1s an inmate of JJ Home.

(C) the girl has lost both parents.
(D) All of the above

62. Money Bill is finally determined by
(A) Prime Minister
(B) Speaker
(C) Leader of the opposition party
(D) President

63. Khajuraho,‘the City of the Gods’ a
UNESCO World Heritage Site, the name of which
was first referred in the 11th century CE by

(A) Ibn Battuta

(B) Ibn Sina

(C) Abu Rihan Alberuni
(D) Omar Khayyam

64. Bengal Revolutionaries were largely
inspired by which Revolutionary movements of

Great Britain?
(A) Scottish
(B) Irish
(C) Welsh
(D) None of the above

65. ‘Perseverance’ rover was successfully
landed by NASA on the surface of

(A) the Moon
(B) the Mars
(C) the Jupiter
(D) the Sun

P ESHA
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61. TR TIIIET IR AIEI CHFE
AT g TEAN Ay w1 I

(A) I NAFE afed =71

(B) 10 JJ Home~4a3 3™t 27|

(C) FNIT O IRN-N TEwe AR A |
(D) T TR

62. SR pursed e I
(A) YR
(B) ™IF
(C) R=idt weerel
(D) AFATS

63. TPUER *2F AR UNESCO Fge ™
@RS 20, A @I 2o AT S I
i, fofv 2=

(A) 33 IS
(B) &3 A
(C) S TR SIEACIE
(D) 8%F (I

64. e R (26 [FHET @I ([ARS 4
71 S 2R ?

65. ‘Perseverance’ wItN a-cafde @Rl @
B AFETI AN TI9KE FAE RR, ©f 2

(A) B
(B) o

(C) 3Hf®
D) &
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66. Whatis the limit of the Annual turnover for
small enterprises?

(A) 5 crores to 75 crores rupees

(B) less than 5 crores rupees

(C) Between 75 to 150 crores rupees
(D) Between 150 to 200 crores rupees

67. Who was the Mughal emperor during the
Revolt of 18577

(A) Aurangzeb

(B) Mir Qasim

(C) Bahadur Shah II
(D) Sarfaraz Khan

68. The Sundarban is declared as ‘Ramsar site’
in
(A) 1987
(B) 1972
(C) 2018
(D) 2019

69. Who is the custodian of the Indian
Constitution?

(A) President
(B) Vice-President
(C) Parliament
(D) Supreme Court

70. ‘Dandi March’ had Inaugurated which
movement?

(A) Swadeshi-Boycott Movement
(B) Non-cooperation Movement
(C) Civil Disobedience Movement
(D) Quit India Movement

C-12

66. 9 ST AT @O 2
(A) S @I (T 75 &I O
(B) 5 I D17 I
(C) 75 (7= 150 b Bl
(D) 150 (7= 200 (I T

67. 1857-93 REIRT 75 (& Y91 7916 ferer ¢
(A) SNSIHE
(B) fi= =i
(C) fadiw vz *1z
(D) T3S

68. IMIIN-(T AT CFA’ NR (WM A1 =7
(A) 1987 5137

(B) 1972 {351
(C) 2018 fIoI=7
(D) 2019 f3%I=T

69. SIS MR &FMIF (custodian) 2
(A) AZAfS
(B) To-Agsif®
(C) =it
(D) iz lo




C-13

71. Which part of the world was the agenda of
Khilafat movement involved with?

(A) India
(B) Arab
(C) Iran
(D) Turkey

72. ‘Letters from Burma’ is a book of essays
penned by

(A) Aung San Suu Kyi1
(B) Rashbehari Bose
(C) Sarat Chandra Chattopadhyay

(D) Subhas Chandra Bose

73. In terms of thermal conductivity (k) and
electrical conductivity (&), diamond has

(A) low k and high o
(B) high k and low &
(C) high k and high &
(D) low k and low o

74. When was the University of Calcutta
established?
(A) 1911
(B) 1817
(C) 1854
(D) 1857

75 Who was known as the ‘Sher-i-Bangal’?

(A) Fazlul Haque
(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad

(D) Nawab Salimullah

MTS/21

71. REATFS HHETE o1 ST (I SN0
Qo1 (A0S NOIRE, (N (0 T ?

(A) O
(B) =<
(C) TN
(D) &

72. ‘Letters from Burma’ «It3< A% A2 B
feTcT=n

(A) = i F o
(B) TR I
(C) *IA<HH L=

(D) 1o 7

73. B ofFRe (k) W3R ofee #Af{]Ee
(8)-7 ANATF A3 (diamond) A=

(A) 9 k8 TH 5
(B) T% ke ¥ 8
(C) T kG TH 5
(D) % k @R W9 &

4. Thrarel ey @F e e e
(A) 1911
(B) 1817
(C) 1854
(D) 1857
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76. The highest peak of the Eastern Ghats is

(A) Mahendragiri
(B) Nilgiri

(C) Jindhagada
(D) Anaimudi

77. NRC is now in form of a
(A) Draft
(B) Bill
(C) Act
(D) None of the above

78. ‘Chipko Andolon’ is known as
(A) Feminist Movement

(B) Tribal Movement
(C) Political Movement
(D) Caste Movement

79. Which Medieval ruler introduced Ain-i-

Dahsala?
(A) Balban
(B) Feroz Tughlaq
(C) Sher Shah
(D) Akbar

80. Neeti Ayog was formed on
(A) January 1, 2015
(B) January 1, 2016
(C) January 1, 2017
(D) January 1, 2018

C-14

79. (N TGYAT AT HZA-3- TN 2/ qE

AN ?
(A) T34
(B) Rrtare geaies
(C) Cra=irz
(D) S

80. Fife-=ans sifde =3
(A) == Eleg@rdt, 2015 iR
(B) #i¥e wegmiat, 2016 offaea
(C) =&t T, 2017 wifaea
(D) #iF= Sgaret, 2018 Sif3re
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81. Which revolutionary leader made ‘mercy
petitions’ from jail?

(A) V.D. Savarkar

(B) B. G. Tilak

(C) Sukhdev Thapar

(D) Chandra Shekhar Azad

82. Who propagated the ‘safety valve theory’
and about which organization?

(A) A. O. Hume, about Indian National
Congress

(B) Lord Dufferin about
Association

(C) Charles Tegart for Zamindari
Association

(D) Lord Macaulay for British-India
League

Indian

83. The Asiad Gold Medalist Boxer passed
away recently at the age of 42. Who 1s he/she?

(A) Pooja Rani

(B) Dingko Singh
(C) Amit Phangal
(D) Shivaa Thapa

84. Khutba was

(A) asermonreadinthe name of the ruler
at Friday prayers.

(B) aroyal order.
(C) areligious decree.
(D) atax.

85. The largest glacier of India is
(A) Pindari
(B) Gangotn
(C) Siachen
(D) Hispar

P ESHA
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81. @ REA @ @ @ A #A
PIEN?

(A) Te. fS. Arerae
B) R. f&. foe=
(C) B3I A
(D) SHCIT SEW

82. (T (I 2V H=ATE ‘GTEi ©IF ©F 25!
TR ?

(A) 4. 6. BT, S S A A=A
(B) &6 TIERE, SRS Fe! A

(C) BIefH (BT, TRmIA TS

(D) o6 G, fafbe-2femt et 7oeitd

83. WM (G TlIeNe IR Arefes
42 IR AT AN AT | S AT 2

(A) =& A

(B) fGesicat fi
(C) e FRAE
(D) i ateh

84, Yo Y ZHA
(A) STAEE AL T AR A A6
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86. Mica producing district of West Bengal is
(A) Bankura

(B) Paschim Bardhaman
(C) Birbhum
(D) Purulia

87. Who wrote Ramcharitmanas?
(A) Harisena
(B) Harshavardhana
(C) Tulsidas
(D) Joydev

88. A battery consists of 10 cells, each of emf

1V.1f 2 cells are wrongly connected, the emf of the
battery becomes

(A) 8V
(B) 10V
(C) 6V
(D) 12V

89. The following river divides West Bengal
and Assam :

(A) Raidak
(B) Sankosh
(C) Kaljani
(D) Chel

90. Which Turkish Sultan introduced the Iqta
system?

(A) Alauddin Khilji
(B) Balban
(C) Iltutmish

(D) Muhammad Bin Tughlaq

C-16

86. Wﬂmwﬁaﬂmﬁmﬁ

88. ¥ JHITe 100 @ wz 7 24R™B7
SITGET A T 1VI T 2 1 gerenz #ge
U, T YOI Sfeesm 5 33

(A) 8V
(B) 10V
(C) 6V
(D) 12V
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91. Who wrote the drama Neeldarpan? 91. Wl 5T 1T Iv1?

(A) Harishchandra Mukherjee (A) 2RHIoT AT
(B) Girishchandra Ghosh

C) Dwijendralal R E5) TR
() Dwiencra’a’ Roy (C) Fatemanet A
(D) Dinabandhu Mitra
(D) A3y fg
92. Thenew station constructed and established 92. i, 2012 HAE (TRWF SIEINT &) SO

by India in March, 2012 for scientific research in SFOIFBEE @ oD IREE g I
Antarctica is called

(A) ferma
(g) IB’rliyad'arshini (B) O
t
(5) Bharat ©) =R
(C) Maitn (D) W s
(D) Dakshin Gangotri
93, Hydraulic press is based on 93, EH (TR ILAIGA fofe ==
(A) Archimedes law (A) SRFRRER 5
(B) Pascal’s law (B) #ArSIE 7
(C) Reynold’s law (C) GHTSR
(D) Bernouli’s law D) o =
94, A person on a swing stands up. The time 04, G CIET ITT AR IR0 BT WIS
period of the swing GGoERRRIEEAG
(A) increases (A) TR
(B) remains the same (B) <3 YR
(C) decreases ©)
(D) becomes zero PAICS
(D) "I W
95. Who was the editor of the nationalist 95. T’ AT TOTOAM FIMATIR AW
newspaper ‘Sandhya’? & REw 0
(A) Satish Chandra Mukhopadhyaya (A) M 58 LI

(B) Bramhabandhab Upadhyay
(C) Sisir Kumar Ghosh
(D) Bhupendranath Datta

Please Turn Over
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96. The largest IT company in India is (as of 96. T, 2021 REIta oMred 5T @A

June, 2021)

Lyl
(A) Wipro (A) Wipro
(B) HCL Technology (B) HCL Technology
(C) TCS (C) TCS

(D) Tech Mahindra

97. The confluence of Bhagirathi and
Alakananda is located at

(A) Rudraprayag
(B) Devprayag
(C) Haridwar
(D) Allahabad

98. Which Muslim general conquered Bengal
in the thirteenth century?

(A) Timur

(B) Igtiaruddin Bin Baktiar Khilji
(C) Chenges Khan

(D) Abdur Rahim Khan i Khanan

99. The Subaltern School of historiography
was spearheaded by

(A) Shahid Amin
(B) Ranajit Guha
(C) Partha Chatterjee
(D) Goutam Bhadra

100. Ibn Batuta came to India during which
rulers’ reign?

(A) Akbar

(B) Sher Shah

(C) Muhammad Bin Tughlag
(D) Alauddin Khilji

(D) Tech Mahindra

97. SINRAA € TEAFTHI AT SRS
(A) FHYTN-E
(B) (R&o-q
(C) 2™«
(D) 9&I_M-9

98. (I AT CIRINITE T * ST I T
IEN?

(A) o=
(B) f&nwim R afeae Rafs
(C) coizer

(D) SRz RS A 3 A
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101. Who was the Chief Guest of Republic 101. 2021 A ST 99F W37 SvIioEwd e
Day, 2021 in India? Ay wfefe & fRE 2

(A) President of Sri Lanka (A) St - oS

(B) PM of Bangladesh
B) QENWMIR 24w
(C) King of Bhutan (B) R

(D) None of them (C) RUIH ﬁi'ka
(D) ©HART (FO2 7

102. To which following movement is the term 102. THYEAN *A0 WHERS @ HHETE
‘ulgulan’ associated with? X GGO 2

(A) Munda uprising

(B) Santal upris (A) T g
antal uprising o |
B) JA1S9le Srgijdl-
(C) Kol uprising (c) e )
(D) Gurkha uprising (C) (P ST
(D) ot} STgralie
103. Gandhiji was influenced by 103. siifEfe aeiike ERE
(A) Tolstoy (A) TePod Bl
(B) Dickens B) o =t
(C) Marx )
C) THA Il
(D) Lincon ©
(D) T =
104. Inter-state council is formed by the 104. <s-31ey «f<aw oifde =
(A) Prime Minister (A) 2YENIF =

(C) Chief Justice of India

C) Sired 24w [eaeifes =
(D) President ©)

(D) Ageifed 7l

105. Who among the following freedom fighters 105. FEtRe W IR MAN iy [

did not belong to revolutionary (militant) SreReRA A fRe= w1t ¢
nationalism?

(A) Al 7
(A) Veena Das
(B) Santi & Suniti (B) *If¥ @ Aife
(C) Matangini Hazra (C) ol gt
(D) Kalpana Datta (D) <&« 18
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106. The variability of rainfall during August in 106. S0 S99 T qi%ﬁit\-m O SR BRI
India would be more pronounced generally at SfEF A 2
(B) Ranchi (B) #f
(C) Jodhpur c (:_E“ﬂ
(D) Lucknow (©) @
(D) =T0¥1-4

107. The following coastal area of India was 107. Siaes AEkiRe Sopan wwah o
affected by ‘Hudhud Cyclone’ :

Yfqre’-a7 I Zeife ¢
(A) Chennai coast % o
(B) Kerala coast (B) MET;TT"[
(C) Andhra coast (B) (< I_ A
(D) Bengal coast (C) T&F ©AT
(D) 3% Tl

108. The Election Commission is constructed 108. <o ™ 5199 I
by the

(A) Vice-President (A) Togeife

(B) Prime Minister (B) &gl

(C) President (C) Ageifs

(D) Chief Justice of India (D) ©IFred 2y« [ogefs

109. Dry ice means

109. ©F 9T 2
(A) Ice at -23°C

B ] (A) —23°C TxOIq 7T
(B) Ice.at4C (B) 4°C Tweorq 72
(C) Solid SO,
(D) Solid CO, (C) =137 SO,

(D) ¥ CO,

110. Largest wind farm of India is located in

110. ST09Y IR P& TeAve (T8 SRFS
Eg; zar;u;N;dud h (A) SIEmIgTS
n d rrades
(C) Maharashtra (B) &M
(D) Gujarat (C) TG




111. The freezing chest in refrigerator is kept
near the top because

(A) it is convenient to use.
(B) 1t reduces cost.

(C) it cools the remaining space by the
| process of conduction.

(D) convection currents are set up.

112. In West Bengal, Export Processing Zone
(EPZ) has started functioning at

(A) Raichak
(B) Falta
(C) Kakdwip
(D) Haldia

113. The responsibility for printing currency
notes in India lies in the hand of

(A) Ministry of Finance
(B) Prime Minister’s office
(C) Reserve Bank of India
(D) State Bank of India

114. Who was the Governor General of India

when Gandhiji initiated Civil Disobedience
Movement?

(A) Lord Hardinge
(B) Lord Minto

(C) Lord Linlithgow
(D) Lord Irwin

115. Indiaisa
(A) Union of states
(B) Federation

(C) Confederation of states
(D) Unitary

C-21
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111. QFSEOEA ITF @ (freezing chest) TR
TR L] 27—
(A) TR JIYI [ IT |
(B) e TS |
(C) ARRZEA Ny M SReeta Sroaiead
HAE] W |

(D) «favaw & tofs 21|

112. #*6¥Itxk ‘Export Processing Zone’
(EPZ)~43 F1fera s[@oie 9%

(A) JTEE
(B) ToTo
(C) FIFRICA
(D) THAMAR

113. SIS BIFIR @6 QAT g SR
(A) ST
(B) S4sI% SRFH-a
(C) Fems T«
(D) GO0 T~

114. SR S-S SR T (& ST
CRICGEREIGEE:

(A) &6 TG

(B) &7¢ fito!

(C) =16 femferrstt
(D) &6 WIS

115. SIS G0

(A) FCTRI Y
(B) T&G

(C) AR AN

(D) IR U
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116. The Partition of Bengal was annulled in
(A) 1905
(B) 1911
(C) 1901
(D) 1947

| 117. Members of the Public Accounts Committee

are elected by
(A) President
(B) Speaker
(C) The members of the both Houses of
Parliament through the method of

proportional representation by single
transferable vote.

(D) Prime Minister

118. Which Indian Nationalist Leader is known
as ‘Grand Old Man of India’?

(A) Badruddin Tyabyji
(B) Surendranath Banerjee
(C) Gopal Krishna Gokhale
(D) Dadabhai Naoroji

119. In India, topographical map is published
from the following organization :

(A) NATMO
(B) GSI
(C) SOI
(D) ZSI

120. Inflation is
(A) one time price level rise.
(B) increasing profits in production.
(C) increase in deficit financing.
(D) continuous increase in price level.

C-22

116. (T A IHSRK I W ¢
(A) 1905
(B) 1911
(C) 1901
(D) 1947

117. AR SPRFCHA IO TSt Fdive 29

(A) gt T

(B) ™AIFIF~47 Q!

(C) AECod TSRICHFT APPHA IFF
TSI ST HIfes afeRiag siafed
T |

(D) gqiwad 7l

118. (N ST TOTORIM (O ‘WIS 676
N O 2fSA’ &0 2W ?

(A) IS CoTe
(B) A TG
(C) (NNTF=E (AT
(D) WIS (qiae

119. ©rre fA5fERe 717 GeaweE
Wabe e 27 ¢

(A) NATMO

(B) GSI

(C) SOI

(D) ZSI

120. YEFHIS 5
(A) GFAET IO THIF I |
(B) Tesi craafene e 3 |
(C) =ofe I Jfa |

(D) @IS T Jfa |

P ESHA
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121. The waves produced by motor boat sailing
on water are

(A) transverse

(B) longitudinal

(C) longitudinal and transverse
(D) stationary

122. Pakistan Resolution was taken on
(A) 16th August 1946
(B) 26th January 1935
(C) 14th April 1942
(D) 23rd March 1940

123. What was the original name of Titumir?
(A) Syed Amanullah Khan
(B) Syed Mir Nasar Ali
(C) Syed Amir Ali
(D) Syed Mir Muhammad Khan

124. New Delhi, the new Capital of India was
inaugurated by Lord Irwin 1in the year

(A) 1905
(B) 1911
(C) 1931
(D) 1947

125. When did Sakabda commence?
(A) 78 A.D.
(B) 78 B.C.E.
(C) 178 B.C.E.
(D) 178 A.D.

MTS/21

121. GBF (G BN AW TYS S5 2

122. faafefie @ ot Hfesw a2wi
(resolution) (NG ZCATRET ?

(A) 163 SN95 1946

(B) 260 Tt 1935
(C) 143 «fist 1942
(D) 23¢ WS 1940

123. SIOAEI S A1 3 few e
(A) G737 SIIE Qi
(B) W N TR &l
(C) T ST !
(D) & K w2

124. ST ATUIN 79 MiE 76 TS Sralk=
FEA

(A) 1905 AT
(B) 1911 A
(C) 1931 AT
(D) 1947 At

125, *PITHR IR P! T 2
(A) 78 A.D.
(B) 78 B.C.E.
(C) 178 B.C.E.
(D) 178 A.D.
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126. Sharavati Hydroelectric Project 1s located
in:

(A) Kerala

(B) Karnataka

(C) Maharastra

(D) Madhya Pradesh

127. Who among the following cricketers won
the Rajiv Gandhi Khel Ratna award, 20207?

(A) Virat Kohli
(B) Sikhar Dhawan
(C) Suresh Raina
(D) Rohit Sharma

128.
Highness”.
(A) The President
(B) Vice-President
(C) Governor
(D) Speaker

is called as “His Superfluous

129. Who is the author of Allahabad Pillar
Inscription?

(A) Rudradaman
(B) Harisena

(C) Samudragupta
(D) Banabhatta

130. Solder used for joining metal parts together
1s an alloy of

(A) Fe and Cu
(B) Fe and Zn
(C) Sn and Cu
(D) Sn and Pb

C-24

126. =TS TR AFH (I IS ?
(A) @RI |
(B) ¥foe
(C) 1
(D) ST

127. 2020 AEI UG MR (&G 2FFT A
B @ fFoRe

(A) 330 @gE
(B) 7 qreas

128, “HRR* TR TEA LA SIS |
(A) QAT
(B) ToHARfew
(C) AR
(D) AP

130. 4193 AT (@O TF PITS T e
TP

(A) Fe ©3R Cu
(B) Fe YR Zn
(C) Sn ¥R Cu
(D) Sn ¢R Pb
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131. According to the Census of India 2011,
which one of the following Union Territories had
the highest sex ratio?

(A) Chandigarh
(B) Puducherry
(C) Lakshadweep
(D) Daman and Diu

132. Which commodity tops the current list of
imported commodity of India?

(A) Gold

(B) Platinum

(C) Petrolium products
(D) Petrolium crudes

133. Whatisthe maximum Government Subsidy
that can be availed by a beneficiary under the

Gatidhara Scheme?
(A) Rs. 50,000
(B) Rs. 1,00,000
(C) Rs. 2,00,000
(D) Rs. 5,00,000

134. When was the First Industrial Policy
resolution taken?

(A) 1956
(B) 1947
(C) 1948
(D) 1951

135. The solar cooker works on the same
principle as

(A) Bolometer

(B) Pyrometer

(C) Greenhouse

(D) Solar PV cell

MTS/21

131. ©RTST SMReTR 2011 SR, FHafERe
@I e Siete FifET forst sqare IR e

(A) HEIG
(B) gt
(C) FrFa
(D) %5+ @ 1%

132. SIS ARMIAIFS 2 GLIA N (FIH G HF
I AT ?

(A) G

(B) 201

(C) CAGITET iy

(D) SIS (AGIETT A

133. %X AT “ifSUA’ 2R GITH
TATSIE! AEH TS 51 TR SEE (TS A P

(A) 50,000 Oi=

(B) 1,00,000 5=
(C) 2,00,000 Bret
(D) 5,00,000 Br=

134, (@IF QA AW MEAITST 238 4% I W e
(A) 1956 HACA
(B) 1947 A
(C) 1948 AT
(D) 1951 AT

135. GTIpH (@ Ao o7 e T2 F& A ¢
(A) QDR
(B) ARRAMOR

(C) famgre
(D) GTY TEIFSI. (P
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136. Government of India passed the Act to 136. ©IFC I AFAEFIT FJAFS 400 WizA

protect the human rights in the year oMt T
(A) 1990 (A) 1990 1
Eg; . (B) 1993 3T
(D) 2002 (C) 1995 A=A
(D) 2002 A
137. Mansab means 137, 9933 9 =
(A) A rank or office (A) % I Ty
(B) A military general (B) GRS
(C) A grant of revenue free land ©) % S

(D) A religious text
g (D) tforg

138. Judges of Supreme Court retire at the age of 138. f&W @57 [Roeo7 Sevze@me I

(A) 60 years (A) 603
(B) 62 years (B) 62 3T
(€) 65 years (C) 6537
(D) 70 years |

(D) 70 34

139. Kumnool-Kudapa Canal is taken off from 139. RufEfRe TG A Tﬁfﬁ-@mﬂ GACLS

the following river : TECR 3
(A) Cauvery (A) IR
(B) Kirishna
(C) Tapti V.
(D) Tungabhadra (€) =i
(D) ¥=eal

140. Central Rice Research Institute is located 140. TET 49 SN A SIS

1n
(A) Cuttack (A) ¥ore
(B) Dhanbad (B) NI~ICH
(C) Kanpur (C) TR

(D) Coimbatore (D) RPIEIRR




141. The binary equivalent of decimal number

4-625 1s
(A) 100-001
(B) 100-110
(C) 100-101
(D) 100-011

142. Who was involved with the ‘India
Independence League’?

(A) Deshbandhu Chittaranjan Das
(B) Mahadev Govind Ranade

(C) Ananda Mohan Bose
(D) Rashbihari Bose

143. President of India is elected by
(A) Members of the Parliament.
(B) Members of the State Assemblies.
(C) Directly by the people.
(D) Both the Houses of Parliament along

with the Members of the State
Assemblies.

144. What was the major symbol of Mahatma
Gandhi during his non-violent freedom struggle?

(A) His looking glasses

(B) His charka (spinning wheel)
(C) His walking stick

(D) His cap

145. If the length of the filament of a heater is
reduced by 10%, the power of the heater will

(A) increase by about 9%

(B) increase by about 11%
(C) increase by about 19%
(D) decrease by about 10%

C-27 MTS/21

141. wifS 7120t 4-625-97 A2 (Binary) ol
2

(A) 100-001

(B) 100:110

(C) 100-101

(D) 100-011

142. A FATITEH A9-9F AKX & Tiow
EIGCE:
(A) CIag foeag u
(B) MR (Siik™ AT
(C) 9w GIIZ (@
(D) AR @A

143. S1ACeT gt FHibe =
(A) AR A IMS 7|
(B) ey RUITTOPTRE ATME 2id1 |
(C) G«q9aq QI AOTF9I(A |
(D) AT 7T AT GRSy RYTe!-
AR AT _IT

144, SR SR SR S 2 AOE
f2e 2

(A) ©IF

(B) ©IF 53

(ORER

(D) 7 G

145. =6 RO 9IEa i 10% I, ROIE
ool

(A) SIEE 9% AT |
(B) S« 11% AT |
(C) ST 19% TR
(D) SN«F 10% FAA |
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146. Shanti Swarup Bhatnagar Prize is awarded
in the field of

(A) Peace

(B) Science and Technology
(C) Medicine

(D) Economics

147. The recently much talked about ‘toolkit’ is
basically

(A) an e-commerce platform for online
transaction.

(B) asocial media site meant for hackers.

(C) adigital equivalent of pamphlets and
fliers that helped mobilise protesters.

(D) an assemblage of sophisticated
electronic gadgets.

148. Researchers has discovered recently
antibody of which virusin bats from Mahabalaswar
cave?

(A) Nipah
(B) Ebola
(C) Covid 19
(D) Zika

149. A boat floating in a tank is carrying some

passengers. If the passengers drink water from the
tank, how will it affect the water level of the tank?

(A) It will go down.
(B) It will rise.

(C) It will depend on the atmospheric
pressure.

(D) It will remain same.

150. Punarbhava and Atrai are the distributaries
of the following river :

(A) Torsa
(B) Teesta
(C) Jaldhaka
(D) Raidak

C-28

146. =if&F@el SHa919 (@ CFE (e 2, GI0 T
(A) =%
(B) =9 ¢ o3f&
(C) Tofee
(D) ST

147. ARSI IDHHS “‘toolkit’ SHE T
(A) STz [RfEwEa o @3 -5
275w |
(B) QIAMA G (b HNErs iGN ARG |
(C) fEfEbe apsa q 2fsam MRPw
ARG |
(D) &ibe IEGWS TGN AR |

148. SITTA AFRTCIFIET TINEWET °QF

AN 2

(A) =

(B) 2@
(C) @few 19
(D) f&=

149. @I TEAIUE O AT @0F A I
YIS (YT G AN T, O @ GAIYERT S 0o
I Y

(A) <G @ K|

(B) Tt T |

(C) IFNSAT BT ToA7 WSq a7 |
(D) «3% AUIA |

150. =[S0 @ Sl ze fAnffde Rt =mm 2
(A) e
(B) et
(C) G0
(D) ITEF
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151. Whom among the following historians does
not belong to the Aligarh School?

(A) Anil Seal
(B) Irfan Habib
(C) Nurul Hasan
(D) Athar Ali

152. A pendulum clock that keeps correct time
on the earth, is taken to moon. It will then run

(A) at correct rate.
(B) 6 times faster.
(C) V6 times faster.
(D) V6 times slower.

153. Article 21 of the Indian Constitution ensues
(A) Right to Religion
(B) Due Process of Law
(C) Right to Life and Personal Liberty
(D) Procedure established by Law

154. Who wrote ‘Poverty and Unbritish Rule in
India’?
(A) Ramesh Chandra Dutt
(B) Dadabhai Naoroji
(C) A.O. Hume
(D) Amartya Sen

155. How many new Government Medical
Colleges have become functional in West Bengal
during the last ten years?

(A) 8
(B) 6
©) S
(D) 3

C-29
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151. fAee afSgfFRme T & SifFse FER
ivior et

(A) I Ae

(B) 33 g

(C) <=1 A

(D) SIeRA SIfe

152, {fAI7jre Aoz 73w A G0 Corgars T
v R aneTl 21, o G

(A) AT AT MR |
(B) 6 @9 ¥ 5(A |
(C) V6 @ &S 5l |
(D) V6 @9 HTI 54 |

153. SITOR FARUT 21 72 SOA o7 AR
(A) 41 TR & |
(B) W33 I 2l |
(C) &7 ¢ & FIATOIT HEIIA |
(D) zA I 2SS 21afs |

154. ‘Poverty and Unbritish Rule in India’ Qg0
ARG (@2

(A) ICMEH 7a
(B) VWSR2 METTEn

(C) «. 6. ey
(D) W] i

155. 51 ¥ A ARGTICK Foul Tou AT
ST IS HIe] LRACR ?
(A) 8
(B) 6
(C) 5
(D) 3
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156. The names of Sidho and Kanho are
associated with which rebellion?

(A) Chuar rebellion
(B) Sannyasi rebellion
(C) Santhal rebellion
(D) Kol rebellion

157. The chopping of an onion makes one cry
because of the chemical containing

(A) Sulphur
(B) Chlorine
(C) Bromine
(D) Nitrogen

158. Which one of the following sequence of the
Himalayan ranges from south to north is correct?

(A) Karakoram - Ladakh - Zaskar-
Pir Panjal

(B) Ladakh - Zaskar- Pir Panjal -
Karakoram

(C) Zaskar- Pir Panjal - Karakoram -
Ladakh

(D) Pir Panjal - Zaskar - Ladakh -
Karakoram

159. A spring of spring constant k is cut into two
equal halves. The spring constant of each half is
now

(A) k

(B) k/2
(C) 2k
(D) 4k

160. Who had designed the first Indian National
Flag?

(A) Vicoji Rustam Kama
(B) Annie Besant
(C) Sarojini Naidu
(D) Sister Nivedita

156. By @ I TN @ [HiEg 7% wioe?
(A) TAIS fREz
(B) =il fRwaig
(C) Alewe Rz
(D) @ Rarz

157. e <0 A8 G g 7 I 9F0

158. w4 (AT TeLA 2oty Adenrag ffnfaie
HALAF W @I AT 2

(A) RPN - I - TIHF - A2AGIe
(B) &MY - GIFIF - AFAGE - FIACIIEN
(C) ©IFIT - ARG - IIATFIAN - T
(D) ARG T - MY - FIRANSIEN

159. PR 33 k-7 93 PRI AN 7 Bl
A, Afel DI Pl v3a 3@

(A) k

(B) k/2

(C) 2k

(D) 4k




161. Mukutmanipur Dam is located across the
following river :

(A) Subarnarekha
(B) Dwarkeswar
(C) Barakar

(D) Kangsabati

162. A vehicle covers half the distance with
uniform speed v, and the other half with uniform
speed v,. The average speed of the vehicle is

V| TV
2
i)
nv2
\%
©
2V,

(D) ; +Vy

(A)

(B)

163. What proportion of the Insurance Premium
payable for Swasthya-Sathi Scheme is borne by
the State Government?

(A) 50%
(B) 75%
(C) 100%
(D) None of the above

164. Started in June, 2014 by the Union
Government of India, the ‘Namami Gange’
Programme is associated with

(A) Worshipping the Ganga

(B) Canal irrigation from the Ganga
(C) River linking with the Ganga

(D) National Mission for Clean Ganga

165. Who won the French Open in 20217
(A) Rafael Nadal
(B) Stefanos Tsitsipas
(C) Daniil Medvedev
(D) Novak Djokovic
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161. fAsfeRe 9 32137 FoaideF dy oR_ES o
(A) R
(B) TR
(C) AT
(D) IS

162. @3 N I SETIE [HLR WET FNF S
V; G TR T FAAES v, G 7, o Snfena
NG B I

+v
V +V)
V2
V1V2
Vt+v

2vvy
Vi + Vy

(B)

(&

(D)

163. 2F553% FATIIET IR S4IEI AN
fAfmeE 3 Mo AT JIPT I FI?

(A) 50%
(B) 75%
(C) 100%

(D) Tt IR 71

164. 2014 FE ©F 26T OIS FIINFF T
SN AIHL Z&

(A) ST A

(B) %! (AT AETCH

(C) 1= AN 4l A&

(D) =7 “Afav=aex e e

165. 2021 e T S &l 2 (&2
(A) AT I
(B) GOTIAMN FoFAM

“
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166. The ratio of the diameters of moon and
earth 1s nearly

(A) 1:2
(B) 1:5
(C) 1:4
(D) 1:8

167. Dubbed as the Dakshina Ganga (Ganges of
the South), the largest river of South India is

(A) the Godavari
(B) the Cauvery

(C) the Penganga
(D) the Mahanadi

168. What was the Carlyle Circular and when
was it 1ssued in colonial India?

(A) Adecreetopreventpolitical gathering
during the World War I.

(B) A regulation to introduce English
education in schools after 1857.

(C) A decree to restrict use of arms by
Indian citizens of colonial India from
1919 onwards.

(D) Adecreetopreventnationalist protests
amongst students in educational

institutions during the Partition of
Bengal.

169. A heavy body and a light body have equal
kinetic energy. Then

(A) heavy body has greater momentum.
(B) light body has greater momentum.
(C) both have equal momentum.

(D) both have same angular momentum.

170. Which of the following is not a unit of
distance?

(A) Light year
(B) Parsec
(C) Furlong
(D) lifty
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166. 5 W32 +fAAT PP AT S 2
(A) 1:2
(B) 1:5
C 1:4
(D) 1:8

167. W SIS FEIZR T & W Ve
ST | ST @b Z&

(A) (oIS 7l

(B) JIRSI 7l

(C) CoisT=

(D) sl

168. FARe AL I GIR IR O AR
OIS 2T T2

(A) @b fofF T 299 Reigras s =y
AGATSF A WiET I |

(B) «<0 ifS T2l 1857-3 #ita Rwia@
G P 25 906 |

(C) «=fb ffF T 191997 <17 @Rzl
SIS YT AT A® I |

(D) @b fofF I I Ixeox [P
EISIHSIRAM SHIEAE QARAIwa
AR (R1Y FFIAMF TS (RS = |

169. @3 SR IY 8 IV e IFT G2
rexiiE =R | SR

(A) <19l I SfEF SA@ AR |
(B) Q& IO HiEF SA39 I |
(C) o7 SIS AT 21 |

(D) 707 @32 ([ S9! I |
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171. The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of

(A) Arunachalam Muruganantham
(B) R. Balki

(C) Akshay Kumar

(D) Bindeshwar Pathak

172. Who was the hero of Rampa Rebellion of
1922-247
(A) Tanguturi Prakasam Pantulu
(B) Tiruppa Kumaran
(C) Puli Thevan

(D) Alluri Sitha Rama Raju

173. In the Constitution of India, ‘Protection of
Life and Personal Liberty’ is guaranteed under

Article No.
(A) 21
(B) 49
(C) 73
(D) 370

174. Dilatometer is used for the measurement of
(A) electrical energy
(B) mechanical energy
(C) dimensional change in material

(D) thermal energy

175. The Nayankara system is associated with
(A) The Bahmani Kingdom
(B) The Chola Empire
(C) The Maratha Kingdom
(D) The Vijayanagara Empire

MTS/21

171. 2018 (S (& 2T ‘i’ &+ Pt 3
EREI e o i, fofv 2=

(A) Arunachalam Muruganantham
(B) R. Balki

(C) Akshay Kumar

(D) Bindeshwar Pathak

172. 794 REe? 19 & f=ie™ (1922-24) 2
(A) SHZS! AFMIT AR
(B) fowst T
(C) e (eI
(D) SEf Aol Fe A

173. ©RCST FRYN PR, &1 € JENo
iAo ST A R @ LT

(A) 21
(B) 49
(C) 73
(D) 370

174. TTeiRo (Dilatometer) I AfIACA

175. mwmm/ﬁwm?

(A) A ATEy
(B) (51&1 HISTEy
(C) WISt ATy
(D) fRermsE A=
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176. Should seniority be the only criterion for
the promotion?

Argument: 1. No: It would be an injustice to
those juniors who are
deserving and suitable for
promotion than senior
counterpart.

2. Yes: Otherwise senior employees
may feel humiliated.

3. Yes: Senior employees are more
experienced and must be
rewarded for the same.

(A) Only ‘I’ is strong.

(B) Only ‘1’ and ‘2’ are strong.
(C) Only ‘1’ and ‘3’ are strong.
(D) All arguments are strong.

177. Exclusive Proposition: Which s the correct
option?
If a person is rich, he has lot of influence.

(A) Alok has a lot of influence, so he is
rich.

(B) Ifapersonisnotrich he does not have
a lot of influence.

(C) Tapas is rich and so he has a lot of
influence.

(D) Poor people cannot have influence.

178. Given set (7, 77, 140) then follows
(A) (9, 88, 180)
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) 4, 10, 160)

179. How many times do the hands of a clock
coincide in a day?

(A) 24
(B) 20
(C) 21
(D) 22
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176. 21 (Seniority) & #HET g =16
Q6T Tivw?

FEF 2 1.9 ¢ @GOt 7AW &fS Wk
157 932 1A GO TAYF |

2.3 ¢ Sy 2 I Gre
THICS TS 2T |

3.3 ¢ AT wow 9T G
IR R S[THT 2oy |
(A) ‘1’ 793 QM e |
(B) (3= ‘1’ @ ‘2’ w97 (XM 2Aarey |
(C) @A ‘1’ 8 ‘3’ 773 XM 2rey |
(D) 2o Y& ATy |

177. O3 Y& 4=, ©F WS ST SR |

GUEE A (@90 AT 2

(A) SENEE NS Ao S0Z O (F 41 |

(B) (T & T 41 711 2T O Ol S
2o QS A1 |

(C) ©Io 4l Y32 O O T Aol
= |

(D) %% & 2SI A0S 21T 7 |

178. (7, 77, 140)— €2 Giof6 P9 30T N5
A TEAb Fdfoq T+ |
(A) (9, 88, 180)
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4, 10, 160)

179. e o3z wfa Fi51 45 srzig fiee T
(A) 24
(B) 20
(C) 21
(D) 22
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180. Today is Thursday, the day after 59 days
will be

(A) Sunday
(B) Thursday
(C) Frniday
(D) Saturday

181. Exclusive Proposition: Whichis the correct
option?
Many smokers get cancer.
(A) Cancer patients are smokers.
(B) Most smokers get cancer.
(C) Smoking may lead to cancer.
(D) Smoking is injurious to health.

182. ‘School’ is related to ‘Student’ in the same
way as ‘Hospital’ is related to

(A) Medicine
(B) Nurse
(C) Doctor
(D) Patient

183. A building which is 64 feet high cast a

shadow of length 96 feet. The height of telephone
tower, which cast a shadow of length 180 feet,
under similar condition 18

(A) 80 feet
(B) 100 feet
(C) 120 feet
(D) 90 feet

184. Atrainis 150mlong.Itisrunningataspeed
of 41 kmph. A man is running at 11 kmph in the
same direction as the train. In what time willit pass
the man?

(A) 18 seconds

(B) 3 seconds

10

(C) -2_(1}5 seconds

(D) i1 seconds

41
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180. e ISR Fre1 59 e 212 1 I =32
(A) AT
(B) ITifearw
(C) BT
(D) *f3=

181. S AW I |
AUFGE A N0 A3 2
(A) IR A LI |
(B) Rzl GuARmMI I 2 |
(C) A IR e afoiea s i |
(D) I TR ATF FeF4 |

182. ‘School’ If% ‘Student’ ZH, %3 ‘Hospital’
NA?

(A) Medicine

(B) Nurse

(C) Doctor

(D) Patient

183. 64 T TH I AT QI 0 96 F6 | @
433 #0180 TB I G HITE QAR (19
9O I ?

(A) 80 FD
(B) 100 6
(C) 120 %0
(D) 90 TG

184. @3 G ™ 150 m| 4B TSI
41 kmph | €& If& 11 kmph sfers fAe Gaos
o3 (o | 0 T GAl @ JfETe Tfoa
AR ?

(A) 18 seconds

(B) % seconds

(C) - seconds

200

(D) % seconds
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185. What is the missing number?
1,2,10,37,101, 2
(A) 320
(B) 226
(C) 206
(D) 402

186. 480 students out of 1500 are enrolled in
NCC. What percentage of students are not there in
NCC?

(A) 70%
(B) 68%
(C) 73%
(D) 64%

187. Mohantakes 6 hourstodoajob. Laltu takes

10 hours to do the same job. How long should it

take 1if Mohan and Laltu work together the same
job?

1
(A) 15 hrs.

(B) 3% hrs.

(C) 2%* hrs.

(D) 3% hrs.

188. Choosethe wordinthe optionthatis farthest
In meaning to the capitalised word.

WINSOME

(A) INSIPID

(B) UNATTRACTIVE
(C) PREJUDICE

(D) OPPOSITION

189. Naseer started from ‘X’ point and walked
straight 5 kms west, then turned left and walked
straight 3 kms and again turned left and walked
straight 7 kms. In which direction is he from point

‘X’?
(A) South-East
(B) North-East
(C) North
(D) North-West
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185. ‘7’ foiT® JA @ A I ?
1,2,10,37,101, 2
(A) 320
(B) 226
(C) 206
(D) 402

186. 1500 QTR M 480T« NCC-(S AN A UG
IER | TS O F AASE I3 ¢
(A) 70%
(B) 68%
(C) 73%
(D) 64%

187. (WIZH G0 G FICS 6 TB! 7AW (7, FAEAD
(7T 10 951 | G GIANL TS FACS IO T (S ?

1
(A) 1'2- QD)
3
(B) 32 01
(C) 2% YD1

1
(D) 32 q<B!

188. ‘WINSOME' *#{bd 6 136! Y 327
IR A @ =130 ¢

(A) INSIPID

(B) UNATTRACTIVE
(C) PREJUDICE
(D) OPPOSITION

189. PR ‘X’ A% (U= 1 ©F I3 et <oy
5 km (SICET | O I WTE Y Gt 3 km @933

[FA AN TS T3 AT 7 km NG | 939 (7 X
(F 3% @ fe g e

(A) wiea-oi
(B) Taz-od
(C) T&x

(D) T&a-oifesy
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190. Should the number of holidays of 190. Wﬁmﬁmqﬁgwa@ﬁsm%ﬁ?

9 °
government employees be reduced IF 2 1.3 2 AN (O N S

Argument: 1. Yes: Our government emp]oyecs o
are having the maximum A FHITR B

number of holidays among D O A

countries of the world. 2.3 ¢ @t 4o CeRliEdis a3
2. Yes: Itis a sign of British legacy oz Tl 379 @ e TR

which should be carried 3.3 2 S T SIS AT 932 TN

e ! FPrerasfe N T LA |
3. Yes: ge‘:’llélifg“‘lj;‘g;mfai“d Eg 4.9 3 ARAE@T AL WA AW

completed well in time. PIOICATR &) FROIRICTCE Ao
4. No: Employees must be given o7& T |

ample spare time to spend (A) @3 ‘1’8 ‘3’ (@AM &Sy |

with family. (B) G 17, 2 @R 3’ Rf* 2irarey |

(A) Only ‘1’ and ‘3’ are strong. (C) @& 2’ @M 2wy |

(B) Only ‘1’, ‘2’ and ‘3’ are strong.
(C) Only ‘2’ is strong.
(D) None is strong.

191. Today is Monday, after 61 days it will be 191. SIS (AN 26 61 9 219 A I L2

(A) Wednesday (A) IH_E

(B) Saturday (B) #faqig
(C) Tuesday (C) T
(D) Thursday | (D) W

192. A ladder is kept against a wall. The top of 192. @30 T2 (ST MT FAE R | BT
the ladder touches the wall at a height of 270 cm S5SNI (@ 270 cm THOR (RETEDBE =0

from the ground. The base of the ladder is 54 cm FEE| B AT (STE (A 54 cm T

away from the wall on the ground. Find the length e | 357 Swot T
of the ladder.

(A) /53682 cm.

(A) /53682 cm.

(B) /68164 cm.

(B) /68164 cm.

(C) /75816 cm.

(C) /75816 cm.

(D) /82547 cm. (D) /82547 cm.
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193. Pointing to a gentleman, Somenath said
“His only brother is the father of my daughter’s
father”. How is the gentleman related to Somenath?

(A) Brother-in-Law
(B) Uncle
(C) Grandfather

(D) Father

194. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours.
They worked together for § hours. The remaining

work was completed by Lucy in 2 hrs. If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300
(B) Rs. 250
(C) Rs. 200
(D) Rs. 400

195. Exclusive Proposition: Which s the correct
option?
All students are not genius.
(A) Every student is not genius.
(B) Many students are not genius.
(C) Many students are genius.
(D) Every non-student is a genius.

196. ‘DUMA’ is related to ‘Russia’ in the same
way as ‘ECCLESIA’ is related to

(A) Bhutan
(B) Afganistan
(C) Greece
(D) Germany

197. Given set (8, 3, 2) then follows
(A) (168, 15, 6)
(B) (95, 24, 5)
(C) (63,8, 3)
(D) (15,6, 5)

)
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193. O SHERRE @A GINHIY I, 67
I ©2 T6 ANF (A IRME 07 | SHEAFod
AN CINALT It 7= F 2

(A) *Jl&T<s
(B) Il
(C) fsrerrz
(D) IR

194. A& 10 9917 100 “ireg @36 fAreiG 52
FACS I A IR G FGH 15 IBW IS A 1913
GFANY 5 U1 Fer 3961 | AfE I G672 95
o9 e | OIA @ FE0 G IW 1% 2,400 Bt
A, O3 & TS ANI?

(A) 300 B
(B) 250 5t
(C) 200 G
(D) 400 Gr=l

195. 31 gaAiR dfesm a3 |
GUHCY NG (0 AfdE 2
(A) TS0 BE AfSSR 77 |
(B) T1< B@E AfCS a3 |
(C) == BlaR Af eIl |
(D) I G T O ATI2 Af S |

196. ‘DUMA’ f* ‘Russia’ Z¥,%3 ‘ECCLESIA’
A2

(A) Bhutan

(B) Afganistan

(C) Greece

(D) Germany

197. (8, 3, 2)— 93 G5l SPTRY 3T N A
T f o a2 |

(A) (168, 15, 6)

(B) (95, 24, 5)

(C) (63, 8, 3)

(D) (15, 6, 5)
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198. Pointing towards a girl in the picture, 198. =f{re U0 R @RE @[ IFE, “9 T

Meghna said, “She is mother of ‘Jhuma’, whose I T T A WA (A | BR_A (RO AR
father is my son”. How 1s ‘Meghna’ related to the I Y oA 9

girl in the picture?
(A) Mother
(B) Aunt
(C) Cousin
(D) Grandmother

199. What is the missing number?
32,19, 8, ?
(A) 3
(B) 12
©) 5
(D) 1

200. The ratio of 6 inch to 4 feet will be
(A) 1:6
(B) 1:4
(C) 3:2
(D) 1:8

(A) =

(B) i

(C) YTV @I
(D) 1

199. ‘7’ ofze I @ A I ?
32, 19, 8, ?
(A) 3
(B) 12
(O
(D) 1

200. 6 2% 8 4 FHI FIAS F©?
(A) 1:6
(B) 1:4
C) 3:2
(D) 1:8
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